
-Bearing 2 is cylindrical roller (NU100) with flat inner ring ,
thus no

axial loud
can be supported.

E == =08 = Po = Fr remains the se a

to = 17
.
2

,
Co = 600N => LFa =RX100 = 0T

Round up to 0. 345 => e = 0 . 22

# = 0 .+ = X = 0. 50 ,
Y = 1.

Thus
,

P = XFr + YFa = 0 . 56 x 250 + 1 . 99 x 100 = 339N

10 = (b) = (0)" = 6727 million ess

If we chose 6210 for bearing 2
,

then we can have bearing I support the axial load.

If we follow the same procedure ,
we have P = Fr (X = 1

, Y = 0)
↳ no need to consider axial load.

=> L = (e) = (2000) = 3764 millionrese


